
NB
: T

he
 co

py
rig

ht 
of 

thi
s d

ra
wi

ng
 re

ma
ins

 w
ith

 C
am

fil.
Co

nte
nts

 m
us

t n
ot 

be
 us

ed
, c

op
ied

 or
 di

sc
los

ed
 to

thi
rd

 pa
rtie

s w
ith

ou
t p

rio
r w

ritt
en

 co
ns

en
t. 

Al
l ri

gh
ts 

re
se

rve
d. 

Stainless Steel   1.4307 (304L)
pickled - glass blasted

RAL 9010
RAL ____

Stainless Steel   1.4404 (316L)
pickled - glass blasted

Carbon Steel  1.0038 (S235JRG2)
Powder Coated
to Camfil SPEC025

  4
31

  

  800  

  2
20

  
  1

55
  

  473,4    473,4  

AIR ENTRY

11
P5

(1
16

5x
56

0x
66

)

11
P5

(1
16

5x
56

0x
66

)

11
P5

(1
16

5x
56

0x
66

)

  1
14

3  

  1913  

  1
54

  
  1

54
  

  4
 X

 25
0 =

 10
00

  

  1
30

8  

  1785  

  206,5  

  1
18

0  

  6 X 250 = 1500    206,5  

A

24 HINGE SUPPORT POINTS
ON PERIPHERY

  64  

  6
4  

DETAIL A

9 X 15

1 MODULE FOR
3x 11P5 FILTER PANELS

1 FINISHING FRAME
TO BE ORDERED SEPARATELY

SAFETY SCREW UNLOCKED
FOR SCREENTEK EXTRACTION

DP PORT PLUG
(OPTIONALLY TO BE REPLACED
BY DP PORT KIT - NOT INCLUDED
1 OPTION / MODULE
TO BE ORDERED SEPARATELY
NO. 5526-3500-930)

FILTER
CLAMPING

FILTER CHASSIS

LOCKING PIN

FINISHING FRAME
TO BE ORDERED SEPARATELY

SAFETY SCREW LOCKED

FILTER
(NOT INCLUDED)

C

REVISION DESCRIPTION DATE DESIGN APPROVED
C AIRFLOW VALUES CHANGED 4.7.2018 MAM VPA

Air entries ( standard = 1)
 

              (mm)               (mm)

Air speed @
 

1760m3/h       2110m3/h      3160m3/h
0,25m/s          0,3m/s          0,45m/s

std 220 x 800 - 2,8 3,3 5
cust _ x ____ _ x ____

1 2 3 4 5 76 8

3 4 6 87

A

B

C

D

E

B

F

E

D

C

A

European Metal Center

Approved

Approved as noted
Revise and Resubmit

NAME: SIGNATURE: 

COMPANY: DATE: 
 DESCRIPTION

 PROJECT

 DRAWING REF.

1 2

 SCALE

 LAST REVISION

 SHEET  SIZE

A3

4.7.2018
 WEIGHT

1 1:20

76.12 kg

CamHosp 2 Type 1

-

5526-1000-000

F



NB
: T

he
 co

py
rig

ht 
of 

thi
s d

ra
wi

ng
 re

ma
ins

 w
ith

 C
am

fil.
Co

nte
nts

 m
us

t n
ot 

be
 us

ed
, c

op
ied

 or
 di

sc
los

ed
 to

thi
rd

 pa
rtie

s w
ith

ou
t p

rio
r w

ritt
en

 co
ns

en
t. 

Al
l ri

gh
ts 

re
se

rve
d. 

1

  1913  

  1
30

8  

  431  

General tolerances ISO 2768 - vL
unless otherwise specified

DIMENSION TOLERANCE
< 30 ± 1

> 30 to 120 ± 1,5
> 120 to 400 ± 2,5
> 400 to 1000 ± 4

> 1000 to 4000 ± 6
> 4000 ± 8

Break sharp angles 0,5 to 2

REVISION DESCRIPTION DATE DESIGN APPROVED
C AIRFLOW VALUES CHANGED 4.7.2018 MAM VPA

ITEM PART NUMBER DESCRIPTION QTY. CAMHOSP PAINTED 
MATERIAL

CAMHOSP PAINTED 
FINISH

CAMHOSP SS 304L 
MATERIAL

CAMHOSP SS 
304L FINISH

1 5526-1010-100 MODULE ASSEMBLY 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1 5526-1010-120 MODULE WELDING 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1.1 5526-1010-121 CHASSIS 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1.1.1 Sheet -

1.1.2 5526-1010-122 PLENUM 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1.2.1 Sheet -

1.1.3 5526-1010-123 FLANGE STRIP 2X11P5 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1.3.1 Sheet -

1.1.4 5526-2010-124 FLANGE STRIP 3X8P5 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1.1.4.1 Sheet -

1.1.5 5526-1010-124 PLENUM REINFORCE 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.5.1 Sheet -

1.1.6 5526-4010-125 FIXATION STRIP 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.7 5526-3511-127 FIXATION STRIP 2X11P5 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.8 5526-3511-128 FILTER CLAMPING CAGE 18 SS 304 EN10088-3 - X5CrNi1810 
- (1.4301) 1,5mm Pickled passivated SS 304 EN10088-3 - 

X5CrNi1810 - (1.4301) 1,5mm Pickled passivated

1.1.9 5526-3511-129 CLAMPING BRACKET CENTER 2 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.9.1 Sheet -

1.1.10 5526-3511-130 CLAMPING BRACKET SIDE 4 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.11 5526-3511-131 FILTER STOP 6 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 3mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 3mm Pickled passivated

1.1.12 - Long nut - DIN 6334 M6 2 SS A2 (304L) - AA A2 (304L) -

1.2 5526-3511-101 FILTER CLAMP 18 ENAW6061 - AlMg1SiCu (3.3211) 
10mm - ENAW6061 - AlMg1SiCu 

(3.3211) 10mm -

1.3 5526-3511-102 FILTER CLAMPING SCREW M6 LH 
THREAD 18 SS A2 (304L) - SS A2 (304L) -

1.4 5526-3511-103 LOCKING PIN M5 6 SS A2 (304L) - SS A2 (304L) -

1.5 - Cap nut - DIN 1587 M5 6 SS A2 (304L) - SS A2 (304L) -

1.6 - Screw flat point - DIN 913 ISO 4026 
M6x8 2 SS A2 (304L) - SS A2 (304L) -

1.7 - Retaining washer - DIN 6799 dia 4 36 SS A2 (304L) - SS A2 (304L) -

1.8 - Hex head screw - ISO 4017 M10x16x16 1 SS A2 (304L) - SS A2 (304L) -

1.9 - Hex nut - ISO 4032 M10 1 SS A2 (304L) - SS A2 (304L) -

1.10 - Washer 1,5x10x18 M10 2 Fiber - Fiber -

2 5526-1010-300 SCREENTEK ASSEMBLY 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

2.1 5526-1010-320 SCREENTEK WELDING 3X8P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 
- X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

2.1.1 5526-2010-321 SCREENTEK TUBE 3X8P5 2 EN10219-1 - S235JRH - (1.0039) 
1,5mm

Painted RAL 9010 
according SPEC025TEC

SS 304 EN10088-3 - 
X5CrNi1810 - (1.4301) 1,5mm Pickled passivated

2.1.2 5526-1010-321 SCREENTEK TUBE 11P5 2 EN10219-1 - S235JRH - (1.0039) 
1,5mm

Painted RAL 9010 
according SPEC025TEC

SS 304 EN10088-3 - 
X5CrNi1810 - (1.4301) 1,5mm Pickled passivated

2.2 5526-3511-301 SCREENTEK FIXING SCREW M6 2 SS A2 (304L) See description in drawing SS A2 (304L) -

2.3 5526-1010-301 SCREEN 3X11P5 1 - - - -

2.4 - Rapid clip MAURIN 783000C4434-3 6 Spring steel Zinc phosphated Spring steel Zinc phosphated

2.5
Trans Technik 

2513005 or 
Equivalent

Starlock washer metric 5 2 SS A2 (304L) - SS A2 (304L) -

ITEM DRAWING
NUMBER DESCRIPTION QTY. CAMHOSP PAINTED 

MATERIAL
CAMHOSP PAINTED 

FINISH CAMHOSP SS 304L MATERIAL CAMHOSP SS 304L 
FINISH

1 5526-1010-100 MODULE ASSEMBLY 3X11P5 1 SHEETMETAL – EN10025-2 - 
S235JR(G2) (1.0038) 1,5mm

Painted RAL 9010 
according SPEC025TEC

SHEETMETAL 304L - EN10088 - 
X2CrNi18-09 (1.4307) 1,5mm Pickled passivated

1 2 3 4 5 76 8

3 4 6 87

A

B

C

D

E

B

F

E

D

C

A

5

European Metal Center

 DESCRIPTION

 PROJECT

 DRAWING REF.

1 2

 SCALE

 LAST REVISION

 SHEET  SIZE

A3

4.7.2018
 WEIGHT

2 1:20

CamHosp 2 Type 1

-

5526-1000-000

F

76.12 kg


	Model
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Detail View A (1 : 10)
	Drawing View10
	Drawing View25
	Drawing View26
	Drawing View28

	Sheet1
	Drawing View32
	Drawing View39
	Drawing View40


